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s e | BRAKR | BER | G
1 #Ingx (1) +(2)+(3) 337,982 1,053,722 1,406,653 0 2,798,357
(1) gxIEE [(7)~(2)] 332,473 825,430 1,312,164 0 2,470,067
(7) #aKINZE 332,473 825,430 1,312,164 0 2,470,067
(NZEIERE 0 0 0 0 0
(D) ZDhEEINE 0 0 0 0 0
(2) BEMNRE (F7)~(T)] 5,509 228,292 94,304 0 328,105
(7)ZBRABRUVELSS 1,372 7,655 380 0 9,407
(1) EE(R)#EE 0 0 0 0 0
() th&EHEE 1,128 4,385 23,616 0 29,129
(D) EHmZEREA 1,710 167,145 67,359 0 236,214
() F A ds 1,299 49,107 2,949 0 53,355
(3) %FRIFIAE 0 0 185 0 185
2 BEAO)+(2)+(3) 210,684 731,243 1,070,822 0 2,012,749
(1) BEXEAH ()~ 194,877 667,357 1,040,423 0 1,902,657
8 (7)RKE 41,311 4873 503,013 0 549,197
£ (1) %5KE 0 127,336 0 0 127,336
&t () EEKE 7,036 0 0 0 7,036
g (D) #EKE 0 0 0 0 0
= (HZREIEE 0 0 0 0 0
(MEBE 0 0 0 0 0
(P RRE 76,735 32,418 0 0 109,153
(©) BUm{ENE 69,595 500,734 507,318 0 1,077,647
() BEERZEE 200 1,996 30,092 0 32,288
Q) ZDMEXER 0 0 0 0 0
(2) BENER [(T)~EFH)] 15,807 63,886 30,399 0 110,092
() EEREFR 14,411 24,408 30,371 0 69,190
(NZDOMEALFIR 0 0 0 0 0
(D) EEERIREE 0 0 0 0 0
(D) RREHEER 0 0 0 0 0
() zDtEENER 1,396 39,478 28 0 40,902
(3) %FRliE% 0 0 0 0 0
3 LBEEMFAIAEN —2] 127,298 322,479 335,831 0 785,608
4 BEEfEAR0 —2] 0 0 0 0 0
M BEEL(T)~(H)] 0 0 130,000 0 130,000
(7) A& 0 0 0 0 0
(1) BEE 0 0 0 0 0
(2)NTTERFFEME 0 0 0 0 0
1 (T)Z D1k 0 0 130,000 0 130,000
& (F) & #utE 0 0 0 0 0
x (2)hEEtHESHIE 0 112,890 0 3,714 116,604
i () fh=EtEAS 0 0 0 0 0
7| (4)EE(R) wHhe 0 0 0 0 0
N (5)TEHES 0 0 0 0 0
i (6) Z D1 0 0 0 0 0
™ (7)&t [(1)~(6)] (A) 0 112,890 130,000 3,714 246,604
% (8)SHLBEEANRYMSN S DBIREFE 2158 (B) 0 0 0 0 0
() RIFEEHABETSTEERAS (C) 0 0 0 0 0
(10) #tiEt (A-{(B)*+C)}= (D) 0 112,890 130,000 3714 246,604
2 |(DFF-LEEEE 0 0 0 4,002 4,002
& (2)HBREEE 160,331 131,095 904,042 0 1,195,468
KIS EEEES 36,107 437,224 82,024 0 555,355
B (M)t EREASRES 0 0 0 0 0
X |(B) F Dt 1,012 0 7,807 0 8,819
H[(6)5t ((1)~(5)] () 197,450 568,319 993,873 4,002 1,763,644
3 EXRMIRAZBEN EARMZHEEICET BT HE(E)-(D)=(F) 197,450 455,429 863,873 288 1,517,040
1 AHBE [((1)+(2)] 57,097 88,799 145,780 0 291,676
(WEEBAHE 47,440 67,167 83,084 0 197,691
(2)EEAHE 9,657 21,632 62,696 0 93,985
2 BHhE 10,784 16,500 24,672 0 51,956
3 BREE 16,419 0 96,564 0 112,983
Z(4 ERE 1,415 4,367 22,296 0 28,078
A5 XIFE 14,411 24,408 30,371 0 69,190
&6 BmEIE 69,595 500,734 507,318 0 1,077,647
|7 ZKE 0 0 0 0 0

8 FHEH 0 50,888 0 0
9 Z0ith 40,963 45,547 243,821 0 330,331
10 & (1~9] 210,684 731,243 1,070,822 0 2,012,749
11 REIEE 0 0 0 0 0
12 &5 (10+11) 210,684 731,243 1,070,822 0 2,012,749
BEH(AN) 8 16 16 0 40
B ERERE (AN 7 16 13 0 36
FERBIKE (Fm3) 6,698 13,934 29,538 0 50,170
#R7K IR (F/m3) 31.45 52.48 36.25 - 40.12
kRl (FA/m3) XEMATZERAEIEEZRLIGS 31.20 40.48 33.97 - 35.41
A BT (F/m3) 49.64 59.24 44.42 - 49.23




